2,4,6-Tribromophenol
Response Ratio

Amount Ratio

R = 8.22e-003 A*A + 8.91e-002 A - 1.06e-002
Coef of Det (r"2) = 0.999 Curve Fit: Quadratic

Method Name: Z:\SVOASRV\HPCHEM1\BNA_ E\METHODS\8270-SIM-BE071618_M
Calibration Table Last Updated: Tue Jul 17 15:02:56 2018




Pentachlorophenol
Response Ratio

Amount Ratio

R = 7.04e-003 A*A + 2.09e-002 A + 1.86e-003
Coef of Det (r~2) = 1.000 Curve Fit: Quadratic

Method Name: Z:\SVOASRV\HPCHEM1\BNA_ E\METHODS\8270-SIM-BE071618_M
Calibration Table Last Updated: Tue Jul 17 15:02:56 2018




Benzo(a)pyrene
Response Ratio

O

Amount Ratio

Resp Ratio = 1.16e+000 * Amt - 2.94e-001
Coef of Det (r"2) = 0.997 Curve Fit: Linear

Method Name: Z:\SVOASRV\HPCHEM1\BNA_ E\METHODS\8270-SIM-BE071618_M
Calibration Table Last Updated: Tue Jul 17 15:02:56 2018




Dibenzo(a,h)anthracene
Response Ratio

8-

Amount Ratio

Resp Ratio = 9.98e-001 * Amt - 2.94e-001
Coef of Det (r"2) = 0.997 Curve Fit: Linear

Method Name: Z:\SVOASRV\HPCHEM1\BNA_ E\METHODS\8270-SIM-BE071618_M
Calibration Table Last Updated: Tue Jul 17 15:02:56 2018




